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The last segment of a trilobite is
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Pearls are produced by these animals
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In graptolites hard parts are made up of
lﬂ"m"’"w 'dﬁt 565 grrren Et\. £ n_._ '5'_91:-.:_')

Options :
Silica

& Fi=o

ro ="

Calcium carbonate
sefgho 5635



Chitin

ALY
3.9

Cal-arenite
e e ]
o

Question Number : 12 Question Id : 1815208226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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In Cuddapah system highest degree of metamorphism is shown in
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Period between triassic and Jurassic system is called
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Kolamnala shale belongs to the system
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In which of the formation does coal occurs
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Which period is known as |ce-age of the Earth
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Chromite occurs in which rocks
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The main raw material for ceramic industry is
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The main ore mineral in the Mailaram Copper Belt of the Khammam
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Oceanic and continental crust differ in
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3500 8.5

Question Number : 45 Question Id : 1815208259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The point of origin of the earthquake is called

A E=To A ciufc TS f.ar—-a:a;%o
Options :

Epicentre

=

oJad u:\_:':lé.:'g
1.v¥

Focus

&

Origin
Horeo



Center

E*-CI_E,.-O

Question Number : 46 Question Id : 1815208260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Deltas are formed during which stage of river system

20 DBEE° Geren LT HEEOD
] e

Options :

Youth
e
1. & e
Old
r:?oég
2.9
Mature
(B
3. %
Youth and mature
afaieEd sbdin e
4, %

Question Number : 47 Question Id : 1815208261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Porosity is high in which of the following rocks
HNEE Es @ dod” sotnob



Options :

Granite
305
g &
Limestone
NDEYRTE00
2.9
Dolerite
3 x  EosTE
Gneisses
&3 poe
4. % =

Question Number : 48 Question Id : 1815208262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The age of the earth is

gmdd o)
Options :

3500 million years

| 3500 200a5HE Honéoren
L%

4500 billion years
4500 £80Hd Doshedyoren
2. % )



2500 Billion years
2500 £0aHs Hosdoren

3. %

4500 million years
4500 D0DAHS Hosdoen
4. ¢

Question Number : 49 Question Id : 1815208263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ox-bow lakes are formed in which stage of River

S5 g L
B 7o whpdafan pon ™ s

"‘:":l_f-_.T mﬁm{‘&u mq‘;‘ I:Lf‘_.é Al
7 L=

it

Options :
Youth
cﬁ:uﬁ_j?

1.

Old
aodse

2. % =

Mature
CaEln
3¢ ©

Youth and Old

Ghaxid bdsn wodk

L=



Question Number : 50 Question Id : 1815208264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The process of mechanical breakdown of the bedrock due to the impact of
wird o diro@lore SADSEAD 1HB8ah

Options :
Erosion
Bgcho

1. &

Hydraulic action

e .
r.\:m:"--'-':\-"-.,-"‘-24 546-'-
B A L L e

o a)

2. ®
Abrasion
St
3.9
Solution
|_[:Fa‘i§5§5mo
4, %

Question Number : 51 Question Id : 1815208265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The crystal form having maximum number of faces

= -
et oyooe ol e L e -
pa‘::ﬁﬁ EEBEY Qs Hngren BOAK B8
= T

Options :



Tetrahedron

uﬁ;m"hrﬂ_e

1. %

Octahedron
05 — .Ei\'!‘:

x B se Oy
Pyramid
FaOP L)

3. %
Hexoctahedmn
:-,.‘,'5;-:1.;,-}.- r

4.

Question Number : 52 Question Id : 1815208266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which one is open form
m'“"'é BrEsm

Options :
ube

= 4
10 aﬁ}fy:ﬂ;

o

25 0

Octahedron

i
e B

Bl e PN E
& Tl



Prism

sataBo
3.¢ w
Pyramid
)
4. %

Question Number : 53 Question Id : 1815208267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

System having only centre of symmetry
Soltf o SrBD e AL

Options :
Tetragonal
Sk

1. & i
Orthorhombic
S

2.

Monoclinic
K5

3.

Triclinic
B
4.

Question Number : 54 Question Id : 1815208268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

The symbol of Octahedron is

P . —_ .-' T wf
&arOnso Gng di™o
[} b o .

Options :

1 & WO

100
2. &

111
3.¢

101
4. %

Question Number : 55 Question Id : 1815208269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Goniometer is an instrument used to measure in a crystal is
AP E@rdid HE8TeR ?(:;&;"Eé;:éﬁ B0 Benthth &H@rATr.

Options :

Inter facial angle
:':",oét’a}éa: 50
1. ¢

Axial ratio

=1

Tyt g
Bl odolhe
=5 wqa:iﬁ



Number of faces
Snmesoe E.’ioa;c’;

NMumber of zones

Sotisioe & Jo8,
4. #

Question Number : 56 Question Id : 1815208270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Topaz belnngs to the crystal system

Pars o ndE w “3‘“‘ DOHRE
o

Options :

Tetragonal
BrRtSa

Orthorhombic

asoes

2.9
Triclinic

[E"}J L)

Monoclinic
DEHE



Question Number : 57 Question Id : 1815208271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The number of faces in a cube
E;c-‘?%té_ﬁ:__é@? Sngsine Hogyg
Options :
10

1. &

06
2.¢

16

3. 0%

08

Question Number : 58 Question Id : 1815208272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The miller symbol for Trioctahedraon

|Es Q—fa,p;_a:;f.,&c,_““ 41 :Zu.ﬁ raoros

Options :

211
1. v

112



210

321

Question Number : 59 Question Id : 1815208273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Dl'wine alters to
’ee?::i o 5 5Ba0Ho Dot

Options :
Kaolin
Bahda
1. &
Serpentine
'._f mE
) b5 CIIL,
Epidote
l.‘a_pl.‘a.ﬂ:.'n Eu
3. 0%
Orthoclase
9;-'9&
4. %

Question Number : 60 Question Id : 1815208274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Mineral having hardness ‘6" in moh's scale
056 Eadersritod? ‘6 8658 S0y ndeo

P

Options :
Calcite
1SN N
1. s ==
Apatite
038
2. %
Orthoclase
aiEn
3.9 i
Garnet
oS
4. % =

Question Number : 61 Question Id : 1815208275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Mica group of minerals are

o e T = A 3 £ iy
05" BleETNED He0rETo o 0508 Dohnd

Options :

Ino silicates

o 2
B2l S AT
B0 DSt



Cyclo silicates
=, i, @é,&:}

E-‘L—F"

2. %
Tectosilicates
BEin S

3. % -
Phyllosilicates
DEROEE,

4.

Question Number : 62 Question Id : 1815208276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The chemical composition of Dolomite is

-+ =
L P S = s T A g
& EJEQJ Barding wOa,.ué«.-:I'\z‘.-

Options :
CaCO;
1. %
MgCOs;
2. %
CaMg(COs)2



CaFe (COa)2

Question Number : 63 Question Id : 1815208277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The mineral showing pearly lustre

£ G Y = o Ty
N0rs) Sxdd) Sra pla2o
wr o

Options :

Quartz
1. & Tl
Qlivine
whas
2. # =
Tale
erS)
3.9
Plagioclase
4. H &h_Pr'Ln.l:I‘l-r -T:-. .

Question Number : 64 Question Id : 1815208278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Fiezoelectric mineral is

5 & = = o
. ¥ Al = o
nEaheERE glo

Options :



Quartz

L F
Tourmaline
DS

2. -
Gypsum
.-EV‘:'-\,—\
L,-\.G\.._!L‘-:'-.p'

3. %

Calcite
Seoes S
4., %

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks for this question if any of the correct options are
chosen.

Question Number : 65 Question Id : 1815208279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The optimum thickness of mineral section is
Pee: D0 S5EHB

Options :

~ 1.54mm

1. %

0.3mm
2. ®



0.03mm
3.¢

3mm

Question Number : 66 Question Id : 1815208280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The angle between two optic axes is

» I.
Dot Béhste esre oir B'so
el <l

Options :

Question Number : 67 Question Id : 1815208281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The refractive index of canadabalsam is

et = S B
SiGCae) e @0Y) i8dfdno

Options :



1.50

1.486
1.65

1.54

Question Number : 68 Question Id : 1815208282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Nicol prism is made up o

f
Usrd HiBo BRE" EdSEhHIrs

Options :
Mica
GBS
1. =
Calcite
]
2.9 g
Quartz
=5



Baryte

=3
cul MG

iy

Question Number : 69 Question Id : 1815208283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Obsidian belongs to which group of rocks

A S Sl = o A
oihHcha 3RS Johs do

Options :
Hypabyssal

Sarel

Flutonic

sy

Volcanic

P
s
= Y

Intermediate

Question Number : 70 Question Id : 1815208284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Dolerite generally exhibits texture
&E'oBe arprdmornr SDA Goth Habio

Options :
Porphyritic

e e vl
Que—

Paikilitic

aron8OEE

b= Ll ]

Ophitic
L85
3.¢

Graphic

Qs

Question Number : 71 Question Id : 1815208285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Sills are

. F. [=a1
ey Bdia)
Y

Options :
Concordant

Al
Eellgles s

1. ¥



Discordant
ESLEEVRLEES

2. %

Concordant and discordant
@roEndE nbdin |H&HES

Eskers

ol Bl B
G_.-.Jm?f:ﬁ

Question Number : 72 Question Id : 1815208286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Tuffis a

05 o 3o
Options :

Hypabyssal
Garmy
1. %

Plutonic
sy

\Volcanic
r:?ﬁé.i‘{:-t’s:é

s

3.¢



Intermediate
b,c‘f,u 30

Question Number : 73 Question Id : 1815208287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

An intrusive equivalent of basalt is
aaras) o wossh 4o

L
o o

Options :
Gabbro
i"'F‘[-__-’Eﬁ

1.v

Granite
rRes

2. ®
Diorite
Echods

3. % -
Dacite
= oéd

4. #

Question Number : 74 Question Id : 1815208288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The percentage of silicain granite generally varies between

L é
eaél ded® Rbse ardEo



Options :

5 to 20
5 od 20
1. &
40 to 50
40 Hoé 50
2. %
60 to 70

5 60 5008 70

80 to 95
80 s0oé 95

Question Number : 75 Question Id : 1815208289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

During the crystallisation of magma the last mineral to crystallise

'

STy ?c;&éﬁﬁmé“ 0855 158B888mo Joth pleso
Options :
Olivine

wOHRS

Augite

=ne

Qluartz
50

3. "



Hornblende

e RaFE
cu"g OGS
Ci

Question Number : 76 Question Id : 1815208290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The process of complete melting of rock is
Boen rbre (Ho5Smo Both (8D
Options :
Palingenesis

o Egan B B
s aE R

1. ¢

Pneumatolysis

?:énﬁﬁgﬁﬁ
2.
Anatexis
3. #®
Metasomatism
S 0] s Vi o L SIN D)
4. %

Question Number : 77 Question Id : 1815208291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Angular coarse grained sandstone is called
Bdah Rrodeanaen EDAN sisorond dihotrth

Options :

Arkose
FE:IE:::_EET
1. % e
Conglomerate
Eorpsoes
2. %
Grit
AT
v
Feldspathic sandstone
S SRE
4 % q.;*‘%?\_:cu@-_; Sel=TR000

Question Number : 78 Question Id : 1815208292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which one of the following is an arenaceous rock

iy k £
siridardd® ob wbihchh do

Options :
Breccia
28 cée
- ad
1. %
Limestone

v .2 5
ol :\.;-_l a0 C00



Sandstone
SAnSTEO

3.¢

Shale
25

Question Number : 79 Question Id : 1815208293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Thinnest layer in sedimentary sequence is

myowh ] T s 4]
ef Dendd) e "E"c‘f‘a::_l_&.- &1&5.-0&'

Options :
Bed

wd o
5Tetslele]

Stratum

Formation
F-JEJL; 4

Laminae
[ o el "_""_—1

ErFtoaled
a

4.9



Question Number : 80 Question Id : 1815208294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which one of the following is evaporate deposition

. w £ Chie.
=T -I""F"H B HBE° %a_‘; whmﬁ_r

Options :
Calcite
SerEed

1. % ==
Baryte
Boed

2. %
Dolomite

i =
g
& E.'gJ.JQJ

Gypsum

-C\-v'"
Wcu J L8,

Question Number : 81 Question Id : 1815208295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ripple marks are exhibited by
B850 e (©5§038 06

Options :



Arkose

F_—'?IEE"}'_EE
1. % a
Sandstone
=ryyictelery)
2.
Limestone
B’m?ﬁr:lai;:;tﬁt:m
3. %
Shale
s
4, %

Question Number : 82 Question Id : 1815208296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is not a clastic rock
Bob o8& EKe fe =206

Options :
Breccia
[@&ose
1. %
Sandstone
SrnEoron



Limestone

who o o
3 P03 E00T00

Grit

[Pé5

4. %

Question Number : 83 Question Id : 1815208297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Shale is made up of
o BaE° ?Jéés‘éé-;é}ﬁé;oﬁ
Options :
Quartz and clay

56 subdin e30r®0
o2
1.¥

Only Quartz

E
Seeh aTe|eEEh
o bt

Only Clay
B208Pe0 STP|85ED
3. %
Only Kyanite
EcHPeT Smigah
4. %

Question Number : 84 Question Id : 1815208298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

The most abundant sedimentary rock is
DO God wiga 4o

Options :

Sandstone

ot
mrnETran

Limestone
) ?if:-;f%ﬁ;s:otm)

Sh_ale

=
3. 0

Gysite

BRS

Question Number : 85 Question Id : 1815208299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Thermal metamorphism of limestone gives
meadrarods (Fr58 KBN hfFnoean BUF SrhHEos

Options :

Quartzite
e 9]
= ]

l. ®



Marble

5
oo

2.

Khondalite
=aleTelalh]

3. % =
Charnokite
et5aes

4. % L

Question Number : 86 Question Id : 1815208300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Slate is formed due to the metamorphism of
2 8o Srarods |58 BoBto Hg P WY

Options :
Shale

<&

o@D

1.v

Limestone
0 ““%h,wo:u
2. ®

Sandstone
oy

c@r,_;_..,_::._.::-:'}:;}

3. %

Grit

[at4]



Question Number : 87 Question Id : 1815208301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Marble is formed due to regional metamorphism of
o) 8o Srarost|ars) Botido Hg aruTron E)hos

Options :
Limestone
P S00TE000
1.v
Sandstone
R =1exlery)
2. 8
Grit
(185
3. %
Shale
eVl
4, %

Question Number : 88 Question Id : 1815208302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which one is high grade facies of metamorphism
Bob aBS® 26 ©5% :E;ca;: 205 Graross 2% BobRE

Options :



Green schist facies

EE o So
= o =
[0l adcd c,,-:u-.*'

Granulite facies
i'_'l_i.'\_u ‘Tﬁé i'.:v

Amphibolite facies

smoherdi] ha

Eclogite facies
a5HERE DS
4. %

Question Number : 89 Question Id : 1815208303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the full-::wing rocks is not a prnduct of contact metamorphism
C"i- T éaé:ﬁ o Ve Treba “3{ Brarois ||;_. u:u C.‘.'“"t{' c-.a_.u“n"..n: =2ln Y

Options :
Hornfels

L &

o :l,J\_r' J

Mylonite

PSR

Skarn

ot

-:-,Cﬂ

-_."C



Marble

SPeTROD

Question Number : 90 Question Id : 1815208304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

When shale is subjected to thermal metamorphism the product formed is
2P &= HErarods (@rH8 MHDRHD A du

Options :
Hornfels
L’{ij“a;-s_f_‘:

1. ¥ g

Phyllite
Tl

2. %

Schist
=

3.0%

Amphibolite
eohaE S5

4, % N

Question Number : 91 Question Id : 1815208305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Metamorphism is caused due to
Erarosl (38 GO P athibdod

Options :

Change in Temperature
t—:—.ﬂtlﬁﬁéﬁ en)!

1. %
Change in pressure
et leTok e vy
2. %
Change in chemical conditions
Brahsd H6H86° Sy
3. %
Change in pressure, temperature and chemical conditions
hisko, GEPKE, Sarahd HHEEE Srty
4.9 - ¥ -

Question Number : 92 Question Id : 1815208306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Migmatite is an example of
DB G08 ot

Note: For this question, discrepancy is found in question/answer. Full Marks 1s

being awarded to all candidates.
Options :



Foliated rock
Ei&tﬂé ﬁﬂ)ﬂ'ﬁ

Non foliated rock
sntses Todh doen

Residual rock
1535, B

i

Sy
3.
Sheet rock
Hel S
4.

Question Number : 93 Question Id : 1815208307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which one of the following instrument is used to measure strike and dip
Eﬁjéga 0, $&D Benth H6E%0

Options :
Compass
B8z

1. %
Clinometer

2.¥



Contact goniometer
otrE Aiacm&ne:6
3. %

Tape
E_FJ E’;-

Question Number : 94 Question Id : 1815208308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Low angle reverse fault is called as

"'"F““ =) E“:l c_. L] gc-.u |&O%x-.w ZEE _,0-:\_. 5_,1

Options :

Normal fault
sinigsn [Godo

Thrust fault

i, s’
w885 (oo

Reverse fault
‘W_s Bao(Fodo

C=l R

Mappe

H-\-L
o720 B
ol



Question Number : 95 Question Id : 1815208309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Slickensides are the indicative of

T . _"._

—D oy oy o
w ."’m“n_a OmLen é} odod oJJ0 wins =000
oy o b

Options :
Folds
S0en
1.9
Faults
(goIPen
2. ®
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Question Number : 96 Question Id : 1815208310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

True dsp is measured along the direction of
u-\.wuf‘rd.i: D-. F‘ ‘__‘I;l

oJEd ol g9 LN )

Options :



Parallel to strike
s;‘é.:@ E&ﬂ))?ﬁﬁ: HErostore

1. %
Perpendicular to strike
@ Hesins wonore
2.4 T
Inclined to strike
Sivalsiania v sy
3. %
Parallel to Fault line
Fostetd HErostore
4. %

Question Number : 97 Question Id : 1815208311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The upper block in a fault is
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Options :
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Question Number : 98 Question Id : 1815208312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A fold with flat crest is
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Options :
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Question Number : 99 Question Id : 1815208313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 100 Question Id : 1815208314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Heave is a component of
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